QUESTION ONE
Mr and Mrs X have 2 children born from their marriage, namely A (male) and B (female). Mrs X also has a child C (female) from a previous marriage. A gets married to his secretary D and they have one child E (male) born from their marriage. A and D further adopt a child F (female) who is not related to either of them by way of affinity or blood relations. B gets married to her former high school teacher G (male) and they have a child H(male) from their marriage. H marries his neighbour I (female) and have two children from their marriage, namely J (male) and K (female).
 
a)     Indicate whether the following persons may enter into a civil marriage with each other and provide reasons for your answer. (6)
 
a) If Mrs X dies, can Mr X marry C?
b) B and E?
c) E and F?
d) K and G?
e) D and J?
f) C and E?
 
(Note: Draw a diagram to assist in answering the questions)
 
QUESTION TWO
Mr and Mrs YZ are married to each other in community of property. Mr YZ is a habitual gambler and uses all his earnings to gamble. He sells the assets in the estate to enable him to gamble when he has no money. Mrs YZ has spoken to him a number of times and has even taken him to a psychologist to no avail. Mrs YZ is a school principal and works very hard for her money. She feels that Mr YZ’s conduct will result in her losing all the assets she works so hard for.

Mrs YZ approaches you for advice. 
 
a) Name the Act and relevant section that is applicable to this scenario. (1)
b) What must Mrs YZ prove in order to succeed?  (2)    
c) Indicate what the court will take into consideration to determine the basis for the division. Refer to relevant case law in your answer.  (5)
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QUESTION ONE
 
a) No, Mr X and C are related to each other by way of affinity in the direct line.
 
b) No, B and E are blood relations in the collateral line and they have a common ancestor within the first degree.
 
c) Yes, E and F are not related to each other by neither blood relations or by way of affinity.
 
d) No, K and G are blood relations in the direct line.
 
e) Yes, D and J are related to each other by way of affinity in the collateral line.
 
f) No, C and E are blood relations in the collateral line and they have a common ancestor within the first degree.
 
(See prescribed textbook pp 28-30 and study guide pp 6-7.)
 
QUESTION TWO
 
a) Section 20 of the Matrimonial Property Act 88 0f 1984 (Application for immediate division of the joint estate.)
 
b) Mrs YZ (the applicant) must convince the court of the following:
 
·         Her interests in the joint estate are being seriously prejudiced or will probably be seriously prejudiced by Mr YZ’s conduct.
 
·         No other person will be prejudiced by this order.
 
c) The court may order that joint estate to be divided in equal shares or such other basis as the court deems fit.
 
In Leeb v Leeb 1999 2 All SA 588 (N) the court took into consideration the following factors to determine the basis on which the joint estate will be divided: The duration of the marriage, the assets each spouse brought into the marriage, each spouse’s debts at the commencement of the marriage, each spouse’s contribution to the joint estate during the marriage, the prejudice suffered by the one spouse in respect of the joint estate as a result of the other spouse’s conduct, and antenuptial debts which were settled from the joint estate during the subsistence of the marriage.
 (See prescribed textbook pp 81-82.)
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SECTION III 
 
QUESTION ONE
In terms of which of the following section does the court have a discretion to refuse a decree of divorce?
[1]        Section 4
[2]        Section 4(2)
[3]        Section 5
[4]        Section 5A       [2]
   
 
QUESTION TWO
When considering whether a marriage has irretrievable broken down, what criterion must the court apply to establish irretrievable breakdown? [2]
QUESTION THREE
Discuss the constitutionality of Section 5A of the Divorce Act 70 of 1979, specifically the right to equality and freedom of religion.  [5]
 
QUESTION FOUR
The requirements that need to be considered by the court in determining whether a forfeiture order should be granted are set out in section 9(1) of the Divorce Act 70 of 1979.
 
With reference to case law, discuss what role misconduct plays in the determining of the granting of a forfeiture order.  [5]
 
QUESTION FIVE
 
Mr and Mrs Steenekamp entered into a civil marriage in 1970. Prior to the marriage, they entered into a duly executed and registered antenuptial contract which excluded community of property and community of profit and loss. 40 years later, Mr Steenekamp sued for divorce. At the time of divorce, Mr Steenekamp estate was worth 1.5 million and Mrs Steenekamp estate was worth 150 000. During the subsistence of the marriage, Mrs Steenekamp maintained the household and took care of the children. She also helped Mr Steenekamp in his business without receiving any remuneration.
 
Mrs Steenekamp approached you for legal advice. Kindly advise her whether she has a claim against Mr Steenekamp estate and what the requirements are. Refer to relevant case law in your answer. [10] 
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[4](2) 
(See prescribed textbook p 120.)
 QUESTION TWO
Section 4(1) of the Divorce Act 70 of 1979(1) provides that the court may only grant a decree of divorce on the ground of irretrievable breakdown of a marriage if it satisfied that the marriage relationship between the parties to the marriage has reached such a state of disintegration(1) that there is no reasonable prospect of the restoration of a normal marriage relationship between them.(1)
There are 3 possible marks for this 2 mark question.
(See the prescribed textbook p 115.)
 QUESTION THREE
It is argued that section 5A violates the constitutional right to equality because it treats spouses in religious marriages differently from spouses whose marriages are not governed by a system of religious law.(1) It is trite that equality does not mean that all people must be treated alike. The Constitutional Court has made it clear that substantive equality is what must be achieved.(1) Substantive equality demands that spouses whose marriages are governed by a system of religious law which could be used by one spouse to unduly prejudice the other should be treated differently from spouses whose marriage are not subject to such a system.(1) It is usually the husband that exploits the religious prescripts, the object of section 5A is to achieve substantive gender equality.(1) Instead of offending the equality clause, section 5A conforms to it.(1)
It is also argued that section 5A infringes the freedom of religion because a party to a secular divorce action could be forced to take religious steps.(1) This limitation to the freedom of religion is justifiable, as the purpose of the limitation is to achieve substantive equality, which is the core of the Bill of Rights.(1)
There are 7 possible marks for this 5 mark question.
(See the prescribed textbook p 22 and the study guide p 69.)
 QUESTION FOUR
According to section 9(1) of the Divorce Act 70 of 1979 the court can order total or partial forfeiture of benefits, taking the following factors into account(1)
1.    The duration of the marriage.(1)
2.    The circumstances which led to the breakdown of the marriage.(1)
3.    Any substantial misconduct on the part of either spouse.(1)
 The role that misconduct plays in determining the granting of a forfeiture order is discussed in Wijker v Wijker .(1)
The Appellate Division held that misconduct can be considered because it falls within the ambit of “the circumstances which gave rise to the break-down” as contemplated in section 9(1).(1) The fact that section 9(1) lists “substantial misconduct” as a separate factor does not exclude consideration of misconduct as a circumstance which gave rise to the breakdown of the marriage.(1) Substantial misconduct may also include conduct that has nothing to do with the breakdown of the marriage and may for that reason have been included as a separate factor.(1) On the facts of the case, the court found that the trial court had misdirected itself in taking into account the husband’s conduct as a factor which contributed to the breakdown of the marriage.(1)
 
There are 9 possible marks for this 5 mark question.
 (See the prescribed textbook p 130, the prescribed casebook p 195 and the study guide p78.)
 QUESTION FIVE
Mrs Steenekamp has a claim for a redistribution order against Mr Steenekamp in terms of section 7(3) of the Divorce Act 70 of 1979.(1)
Section 7(3) empowers the court, in limited circumstances, to make an order that the assets, or part of the assets of one spouse be transferred to the other spouse if the court considers this to be just.(1)
The prerequisites for a redistribution order are:
1. Spouses must have been married to each other prior to the commencement of the Matrimonial Property Act on the 1 November 1984, with an antenuptial contract which excludes community of property, community of profit and loss and any accrual sharing,(1) OR 
2. Spouses must have been married prior to the commencement of the Marriage and Matrimonial Property Law Amendment Act on 2 December 1988, in terms of section 22(6) of the Black Administration Act 38 of 1927.(1) 
The introduction of the redistribution order was as a reformative and remedial measure for spouses married subject to complete separation of property.(1) These spouses did not have a right to share in the assets acquired by the other spouse during the subsistence of the marriage and the accrual system was not imposed retroactively.(1) The introduction of this order was to remedy the inequality.(1)
The requirements for a redistribution order are:
1. The spouse who seeks redistribution must have contributed directly or indirectly to the maintenance or increase of the other spouse’s estate during the subsistence of the marriage.(1) 
2. The court must be satisfied that, by the reason of such contribution, it is equitable and just to make a redistribution order.(1) 
In Beaumont v Beaumont (1) the spouses were married in 1964 and entered into an antenuptial contract which excluded community of property and community of profit and loss. Twenty years later, the husband sued the wife for divorce. At the time of divorce, his estate was R450 000 and his wife estate had only R10 000. During the subsistence of the marriage, his wife kept house for him and the children and fulfilled all the tasks of a wife and mother. She also assisted him in his business without receiving any remuneration.(1 mark for the facts of the case) When the husband sued for divorce, the wife instituted a counterclaim for a redistribution order in terms of section 7(3). The court granted her claim and awarded her R150 000 of his estate and maintenance. The court applied the one-third rule or guideline.(1)
In light of the prerequisites and the requirements of section 7(3) and the decision in Beaumont v Beaumont, Mrs Steenekamp will succeed in a claim for a redistribution order against Mr Steenekamp.(1)
There are 13 possible marks for this 10 mark question.
(See the prescribed textbook pp 132-139, the prescribed casebook pp 207-213 and the study guide pp 82-83.)


